AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	of Utilii	ty <u>JONATHAN CREEK WATER</u>	DISTRICT		- CASE 2005-0031
The fo		is an itemization of expenses fo	r providing a r	netered servic	JUL 2 2 2005 PUBLIC SERVICE
A.	Meter	Size			COMMISSION
	5/8-Ind	ch ☑ 3/4-Inch □ 1-Inch	□ 1 1/2 -lı	nch □ 2-Ir	nch 🗆
	Other	(specify)			
В.	Mater	ials Expense	Quantity	Unit Cost	Total Cost
	1.	Water Meter	1	34.50	34.50
	2.	Meter Yoke	1	51.00	51.00
	3.	Corporation Stop	1	10.00	10.00
	4.	Meter Box and Top	1	20.00	20.00
	5.	Miscellaneous Fittings	May design a distribution in the same to		want bilander sugar genera ya felagande kum
	6.	Other (Itemize)			
	TAP	PING SADDLE	1	15.25	15.25
٠	,	-			Notice Angles of the Control of the
	Martine - Transport Control of Control				**************************************

\$<u>130.7</u>5

TOTAL MATERIALS EXPENSE

(add total cost)

C.	Service	Pipe	Expense

Type	Type of Service Pipe PVC		Size of Service Pipe 3/4"			
		Quantity	Unit <u>Cost</u>	Total Cost		
1.	Short Side Service	10'	.60	6.00		
2.	Long Side Service	50"	.60	30.00		
AVE	RAGE SERVICE PIPE EXPENSE (add total cost and divide by 2)			\$ _{18.00}		
Inst	allation Labor Expense					
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>		
1.	Short Side Service	_4	30.00	120.00		
2.	Long Side Service	_8	30.00	240.00		
AVE	RAGE INSTALLATION LABOR EX (add total cost and divide by 2)	(PENSE		\$ <u>180.</u> 00		
Inst	allation Equipment Expense					
		Total Hours	Hourly Rate	Total <u>Cost</u>		
1.	Short Side Service	4	_50.00	200.00		
2.	Long Side Service	8	50.00	400.00		
AVERAGE INSTALLATION EQUIPMENT EXPENSE (add total cost and divide by 2)			\$ <u>300.</u> 00			

	F.	Installation Miscellaneous Expens	<u>se</u>		
;			Total <u>Hours</u>	Hourly <u>Rate</u>	Total Cost
		1. Inspection		19.13	38.25
;		2. Site Clean-Up			
		3. Other			
		SEED & STRAW			13.00
				was a second and a second a second and a second a second and a second a second and a second and a second and	••••••••••••••••••••••••••••••••••••••
		AVERAGE INSTALLATION MISCE (add total cost)	LLANEOUS EX	KPENSE	\$ _{51,25}
	G.	Overhead Expense			
		Installation expense (\$) times		
		overhead rate (%	o)		\$
	Н.	Administrative Expense			
		1. Office expense for establishing	ng a new acco	unt	
		and billing record.			\$20.00
	1.	Total Expenses			
		Materials Expense			\$ _{130.75}
2		Service Pipe Expense			18.00
		Installation Labor Expense			180.00
		Installation Equipment Expense			300.00
•		Installation Miscellaneous Expense			<u>51.2</u> 5
		Overhead Expense			
		Administrative Expense			20.00
	TO.	TAL CONNECTION EXPENSE			\$ _{700.00}

AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Α.	Meter Size								
	5/8-1	inch 🗆 3/4-Inch 🗆	1-Inch 🖎 1 1/2 -	nch 🗆 2	-Inch □				
	Othe	er (specify)	. Add a second						
в.	Mat	erials Expense	Quantity	Unit Cost	Total Cost				
	1.	Water Meter	1	66.74	66.74				
	2.	Meter Yoke	_1	90.00	90.00				
	3.	Corporation Stop	_1	12.00	12.00				
	4.	Meter Box and Top	_1	38.00	38.00				
	5.	Miscellaneous Fittings		National Advisory of the Advis					
	6.	Other (Itemize)							
	_T/	APPING SADDLE		21.00	21.00				
	- سر			violate and Maria Maria Angelogogogo	benedicalism democrature				
			Antonio Antoni	no disconnection de la constante de la constan					

C.	Serv	ice Pipe Expense			
	Туре	of Service Pipe <u>PVC</u>	Size of Service Pipe		1"
			Quantity	Unit Cost	Total Cost
	1.	Short Side Service	10'	.70	7.00
	2.	Long Side Service	50'	<u>.70</u>	35.00
	AVE	RAGE SERVICE PIPE EXPENSE (add total cost and divide by 2)			\$ <u>21.00</u>
D.	Inst	allation Labor Expense			
			Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>
	1.	Short Side Service	4	30.00	120.00
	2.	Long Side Service	8	30.00	240.00
	AVE	ERAGE INSTALLATION LABOR EX (add total cost and divide by 2)	KPENSE		\$ <u>180.0</u> 0
E.	İnst	allation Equipment Expense			
			Total Hours	Hourly Rate	Total <u>Cost</u>
	1.	Short Side Service	_4	50.00	<u>200.0</u> 0
	2.	Long Side Service	_8	50.00	<u>400.0</u> 0

AVERAGE INSTALLATION EQUIPMENT EXPENSE (add total cost and divide by 2)

\$300.00

F.	Inst	allation Miscellaneous Expense					
			Total <u>Hours</u>	Hourly <u>Rate</u>	Total Cost		
	1.	Inspection	_2	19.13	38.26		
	2.	Site Clean-Up		20.458.4			
	3.	Other					
	SI	GED & STRAW			13.00		
				Name and the state of the state			
				**************************************	www.companies.com		
	AVE	ERAGE INSTALLATION MISCELL (add total cost)	ANEOUS EX	(PENSE	\$ <u>51.26</u>		
G.	Ove	rhead Expense					
	1.	Installation expense (\$%)) times		\$		
Н.	Adn	ninistrative Expense					
	1.	Office expense for establishing and billing record.	a new accou	int	\$ <u>20.00</u>		
I.	Tota	al Expenses					
		erials Expense			\$ <u>227.7</u> 4		
		vice Pipe Expense			21.00		
		allation Labor Expense			180.00		
	Installation Equipment Expense						
	Installation Miscellaneous Expense						
		rhead Expense ninistrative Expense			0		
тот	TOTAL CONNECTION EXPENSE \$ 800.00						